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TS FFd Tacarerdt & Gy (TAsrETw)
IR~ ATCATAS TSTFH
q13 - 17: YhIolel & ATTSH
FETAR -17

L gifora & e 9T #, 10 oE o 39 YR 37 g U
30, 78, 40, 28, 30, 45, 50, 49, 50, 48.

AT & aeT Arey RQgaa aa hifac

2. FAfAT@T HTehal T ATET & TIUET ATET TJTeled AT HITIT;

X; 10 31 50 70 90

Ji 5 25 28 16 6

3. s AT A f@enfsal i =18 560 YR &

Height in | 90-100 100-110 110-120 120-130 130-140
cm

Number of | 10 20 15 25 30
players

ATET & geT ALY fAuaa A1 Hifav]

4. Find out the mean deviation about the median of following data as:

RArafaf@a 3esr fr Ffegswr & aey AreT [Fada g HifeT:
42, 40, 60, 65, 72, 75.

S IfN= 10, x= 12, lez =1530, then find out the co-efficient of variation.

- v = 2 _ .
afy V=10 x=12, 200 21530, gy IUTH AT HIAT |

6. g YUl &7 AT 3R AS [SueeT A 8 W 4 F I uAE vefur Fr 3 ;



10.

aon fohar Se| aRomEHr 9etor @ FAT Ay 3R AT Al faue AT ffSv)

. The standard deviation of some temperature data in degree centigrade is 6. If the data is to be

converted in to Faranite scale, find the variance.
3 @9 A $o AYAT IR T ATh faTerT 6 g1 Il Mihst FI WTAIST
Tha & gRafdd fFar se |, fJRor ara fifsw)

10 a'{-—graﬁwmw 15 &1 IfE T 9eIuT 27 & 72 ¥ §co f&ar v, F37 ATey
AT AT

. The smallest value of a collection of data is 12 and the range is 56. Find the largest value of

the collection of data.

Hirst & HAG H HH Ol Aed 12 AR WAT 56 g1 sl & FIT H qIH
98T Hog Al SIfaiT|

TYH 20 UTehd HEITHT T Aleleh fauelel AT HIfST]



